Introduction

Purpose

@ Systematically study the eloss package for G14

@ Study the dependence of energy loss dependence on
various factors

@ Trying to solve the puzzle of multiple bands of eloss vs.
momentum
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Introduction

Method

@ Proton and =~ are generated with random momentum, 6, ¢
@ Vertex Zs are fixed at 7 positions: -10.5,-9.5 ... -4.5
@ Energy loss vs. momentum and 6 are shown
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rtex Z at-10.5

energy loss vs. 6 with vertex Z at-10.5

energy loss vs. momentum with vertex Z at -10.5
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Energy loss vs. § and momentum of =~ with vertex Z at -10.5




rtex Z at -9.5

energy loss vs. 6 with vertex Z at -9.5 energy loss vs. momentum with vertex Z at -9.5
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Energy loss vs. 8 and momentum of 7~ with vertex Z at -9.5




Vertex Z at -8.5

energy loss vs. 6 with vertex Z at -8.5 energy loss vs. momentum with vertex Z at -8.5
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Energy loss vs. 8 and momentum of 7~ with vertex Z at -8.5




rtex Z at-7.5

energy loss vs. 6 with vertex Z at -7.5 energy loss vs. momentum with vertex Z at -7.5
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Energy loss vs. 8 and momentum of 7~ with vertex Z at -7.5




energy loss vs. 6 with vertex Z at -6.5 energy loss vs. momentum with vertex Z at -6.5
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Energy loss vs. 8 and momentum of 7~ with vertex Z at -6.5




Vertex Z at -5.5

energy loss vs. 6 with vertex Z at -5.5 energy loss vs. momentum with vertex Z at -5.5
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Energy loss vs. 8 and momentum of 7~ with vertex Z at -5.5




energy loss vs. 6 with vertex Z at -4.5 energy loss vs. momentum with vertex Z at -4.5
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Energy

loss vs. 8 and momentum of =~ with vertex Z at -4.5




Proton

Vertex Z at -10.5

energy loss vs. momentum with vertex Z at -10.5

energy loss vs. 6 with vertex Z at-10.5
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Energy loss vs. § and momentum of proton with vertex Z at
-10.5




Proton

energy loss vs. 6 with vertex Z at -9.5 energy loss vs. momentum with vertex Z at -9.5
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Energy loss vs. § and momentum of proton with vertex Z at -9.5




Proton

Vertex Z at -8.5

energy loss vs. 6 with vertex Z at -8.5 energy loss vs. momentum with vertex Z at -8.5

AE (MeV)

| L L e e L |
100 120 140 160 180 o 100 200 300 400 500 600 700 800 900 1000
3 degroe) Momentum (Meve)

Energy loss vs. § and momentum of proton with vertex Z at -8.5




Proton

rtex Z at-7.5

energy loss vs. 6 with vertex Z at -7.5 energy loss vs. momentum with vertex Z at -7.5
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Energy loss vs. § and momentum of proton with vertex Z at -7.5




Proton

rtex Z at -6.5

energy loss vs. 6 with vertex Z at -6.5 energy loss vs. momentum with vertex Z at -6.5
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Energy loss vs. § and momentum of proton with vertex Z at -6.5




Proton

rtex Z at -5.5

energy loss vs. 6 with vertex Z at -5.5 energy loss vs. momentum with vertex Z at -5.5
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Energy loss vs. § and momentum of proton with vertex Z at -5.5




Proton

Vertex Z at -4.5

energy loss vs. 6 with vertex Z at -4.5 energy loss vs. momentum with vertex Z at -4.5
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Energy loss vs. § and momentum of proton with vertex Z at -4.5
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